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Section I

(eua 1) .
Read the following paragraph and answer Questions (1-5) given below
in 30 words each. Atte‘mpt‘ALL the questions. [Marks : 5x5=25)
Al Aisus aidl, 20 35 el (1 2 W) L wae 30wl
UL, AU Uil %BaALsL SUL.

A person is poor becausé his/her endowments of capital, land, labour
and skills are meagre and also because his/her access to public goods and
services and natural resources is limited. Often, a poor person is trapped
in the prison of illiteracy. Disease and illhealth prevent him/her from getting
the most out of the one asset he/she has, his/her labour. Without training
and skills, he/she cannot aspire to do a better job. Without an all-weather
road that connects his/her habitation to the nearest ﬁarket, he/she can-
not get a fair pricé for his/her produce. Without electricity and access
to credit, his/her ability to increase productivity of land or of artisan activity
is limited. Without the sewers and drains, water works and water mains
that service his/her town; without the policing that should protect his/
her life and limb, property (however meagre), pei'son and dignity as an
equal citizen of India; he/she cannot function effectively. Thus, while in
the short run, access to basic facilities such as, health education, clean
drinking water etc. impacts directly on welfare, in the longer run, it
determines economic opportunities for the future. Without access to these

services one cannot be considered to have equality of opportunity. Since
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Eco.-111

access to these services for the majority of the population depends not
only upon their income levels but upon the delivery of these services through
publicly funded systems, the Eleventh Plan’s vision of poverty reduction
includes major expansion in the supply of these services. The resources
needed to create the infrastructure necessary for delivering these services
to the poor are large.

NAs Al aer §, s 3 Al 48, 2ll4, 2y v Slacudl Aulk
A B A WS agll A Al ddl Wglas Aua-d dsd asd
wgly, HullRd &, wellaty, As ool Ald, FRadidl Fadi sus Ay
B. 0L A WA 5120 A Wididl AW M BASAHA—AAL -]
59 vud Aadl asdl Al dedd A slaed [@nL, d ay g sl s
sl Al At 9 AlYl A4Sl 62N WA RSl WS Wl L Sleun,
S8 o Uidisl Gt M2 4y, qndR Al asdl A, ool 211 -l
A4S (AL, Uil @l Geulesdl staan dididl saotdll ugRiqdl Gewesdl
aaidldl a-l axdl HullBd o 8. 22, welldl 2islxl adl [Q-u,
Arl @an, ol A Besd (¥ $5 woiml 8 d), eud- A5 ks
gleuril dllRa-l @R M delld R, d s Ad sl 530 usdl
A?ll. 2, 250 ououHl, uricy, Baw, Ylaid ye well ad? yuoeid yqddl
dsl usiay, sl U A 53 Q. A diot dueuHl @ s el
s dSl 458l 53 B, 2 Al U YSIA A S, dAHA WML
ds WA 8 AW sl sty ALl Hial el axdl W Aait Wl
ug‘m, durfl 2iids U AR UM GURId A WIR eisia gl Al
el gt adl Guaeadt U Al AR 8. s daaly R
ALoll qarsalrl HUAHL, U AUAAL YRaASIL Rad el wde s -

suell 8. Aol vu Al yl wsar w2 %330 wadl yRawl yfa
w2 330 AAEl qel agy 9.




1 A poor person is poor because he is poor or he is poor due to certain

reasons. Explain.

As oo, Aol B 518 3 Q e B, AL A 2Ays SR80 dA Al

£, AxANAl.

2. What kind of facilities be provided to reduce the problem of the

poor.

Alelil Rl 2iedl. sl W2 su usll wdast Il wsdl
ASA 7
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3. Suggest suitable measures which should be initiated by the govei'nment

to solve the problems of poor people. | |
Aot dldirdl wadil RS2 W2 S suL AU wardl ML ASH

a yadl.

4, In addition to the basic facilities, what should be the strategy in the long

YoM AAASL BURd, Aol sl Ul @ s W aion duuHi 2l
gyl Sidl ASH ?

\
|
\
|
| term to solve the problems of the poor people.
|




5.  What is the vision 6f the Eleventh Plan to alleviate the problem of the i
poor people ?
Aler @lsi-l Wi Rarra wR 2Bl do-ull ¢he 58 8 ? :
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Section II
(RewatL 11)

Answer the following questions in 30 words each. Attempt all questions
(6-20). (Marks 5 x 15=75)

QA £35 NAFL BUSL 30 AEHL UL, Gl Uil el L.
(5-20) (3§ : ux1u=9u)
How does objectives of Williamson’s model differ from those of Baumol

and Morris ?
oie i AL WBAL sl ARURAAAL Hidail 8l 58 A el

ys ¢ ?

What are the determinants of money multiplier ?
AR opas- Rals wReol s ¢ ?




8. What are the assumptions underlying Kaldor growth model ?
516512 qla WSa-l alRaual 58 @ ?

9. How is sefvicing of external public debt different from internal public
| debt ?

idlRs M Bal sl ouw MR Al s3gudyl 56 A %dl ud
‘87
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10. What is optimum currency area ?

Sodm aaw QiR Ned g ?

11.  Are there any norms to regulate the functioning of non-banking financial

institutions ?

A Ao Rdlu deui- seliuan Fand w2 s @l 8 7

Eco.-11I
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12.

13.

Eco.IlI

How is industrial productivity measured ? =~
leiBs Geutesdil 5§ NQ wyasi 2ud @ 7

Explain the cohcept of sustainabie development.
AU Qs v auendl.
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14. What are the components of green revolution in India ?

cRdHl sRuwll sila-u west su 8 7

15.

Eco.-ITI

What are the conditions of maximisation and minimisation of a

funetion ?

As QAU HerHlsa vA Yrddlsa el wdl 5§ © 7

12



16. Briefly state consequences of environmental degradation.
wufaefly Aaafiqn yREBd Sseni eyl

17. Do you agree that fiscal policy alone cannot ensure price stability .
in India ?
ouddi oudil Rardl, ssd uwsla AR gl ad 4 wsw A
Heot WA g o Aud ol 7
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18.  Differentiate between Money market and Capital market.
AR 62N A YSL 6o Al Ae R $3U.

19. Distinguish between net and gross reproduction rate.
Avull e, §E UYL £ ARAAL dsldd dHAdL.

Eco.-III 14



20. Explain the concept of effective demand in Keynesian economics.
30wl AN ‘HUSIS Hd' Al v ANAAl.
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Section HI
(Aowa 1m)

Note : Choose any one elective from Electives I to V and answer all the questions
(21-25) of the some elective in 200 words each.. (Marks 12x5=60)

Al 0 QAsen 4 ol u Hil s [Asey wale s A A o [@Aseusl oy wadl

(21 ol 2u) -l s £25+ 00 Akl Yefl 2wl
Elective I
(asey 1)
21.  Given the linear regression model Y = B + §;X + n prove that B, estimated
| through ordinary least squares method is unbiased and consistent.
YW [Rudrioly s Y = By + B,X + n W2 Al 530§ wWdl yridy
@l 4gld (OLS) g1t it sl 20dd B; Al 2R Yol V.

22, What is first order autocorrelation ? How do you estimate the model in
the presence of first order autocorrelation ?

YN SaUL-l RAusAY Ned g 7 uAH sau-u wasAsiadl el Hl Hidad
2L dd $§ d sl ?

23. How do you estimate the logit model ?

‘dime’ {isdg o i 6§ Nd s ?

24, What is a random walk model ? How do ycu test it ?

‘g A’ WsA Ned g ? Ad ula@ dd 5§ A s ?

25. How would you estimate simultaneous equations model through indirect
least squares method and two stage least squares method ?

Yorud AHlse HWddd e, ud Yrdd Wl ugll (ILS) a8 2
[B-ctotsst yrdm adl ugla (2 SLS) 48 ait 4§ A s ?

Elective II

(@sew 1)

21. © Who gave the concept of kinked demand curve ? How does it lead to price
rigidity ? |
vl ol agell vud S8 Buwll odl 7 A 56 AUd BHd ¥SdL drg ‘
el wy 8 7
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- 23.

24.

25.

21.

22.

23.

24,

25.

21.
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Describe two person zero sum game and explain how game theoretic
approach is used to solve duopoly problem.
-3t -9ri-H AU ASHe ARl 5 247 Regrels SAAWAL W24 GBacui
59 Ad Ysleudi AMPEMA GUdldL 2y & A AHAdL.
Explain the salient features of Kaldor’s growth model.
sieslanl 43 sadl you qasiill aiogedl wuvl.
How does Solow’s model really aims at\ reaching the full employment
path ?
Aldid qla Hisa 5§ 2’[& Yol AU vy uglaag Ay
AL ¥ 7
Explain the uses of linear programming.
UL UL GuUll AHAL.

Elective III

(Asew 1)
Explain the causes for the collapse of Brettonwood system. .
glerqs uBlElrl Algl M2l SR80 AUl
How globalization accelerated world trade in favour developing countries ?
Discuss. _
ABasd 5§ A Rswlla 2l ddasi Rsa i A9 2wyl
8 7yl s,
Examine the importance of international bond market in the context of
global capital movement.
[Asa yel d232- deolui, 2idMEY olivs o2l oLl dUIAL.
What steps need to be taken to solve international debt crisis.
Aiddlu sl s2isd Glaar W2 w o Adl ASH ?
Suggest a suitable method of foreign exchange rate determinatioh.
[Agell gsluna e+ Ralza W2 4y gl adidl.

: Elective IV

(Rsen 1v)

How can the growth of Indian agriculture be accelerated ? DISCUSS

MUcld gB-l qleni 56 N Ao awdl asia ? 23l s3.
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22,

25.

21.

23.

25.

What are the sources of agricultural credit in India ? Examine their relative
importance.
eRaui Rl wdl s 8 7 adl ol gaq s:i.
How can we achieve sustainable development in the context of Indign
agﬁculture ? Discuss.
eucli 4B Aeoll 2w 5§ A uHUBd Qs well aglu 7yl
Examine the factors which have led to migration of agricultural labourer ?
How has it affected Indian agriculture.
VAYRAAL @ANIAR d§s €] ol WRowlA durdl. cudla g&& aruel
Al A ugill 8 ?
“Reforms are éigniﬁcant component towards the progress in Indian
agriculture!” Explain.
“encdle gBiel woUld w2 YR BAAAL Uy V.77 wHAdlL.

 Elective V

(Rsew V)

What have been the main objectives of economic planning in India ?
QUL s dudiomiAl Yoo Sgil suL @l 8§ 7
How has the WTO’s agreement affected Indian agriculture ?
WTO $U cllRdly §ML da 5§ Ad xA s S 7
Comment on the changes in India’s tax structure si.nce’ 1991.
oty 5231 vl 1991 ol adal wRad-iAl wlan s

‘Comment on the measures adopted for empowerment of women in

India.

ol Wil uusdlsg W wunadar ward wda s
How has the process of globalization affected Indian industry ?
Explain.

a[lqszlatvu AR ouadly Galold 58 R AR 32’1 8 7 wiadl.
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